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ROMVDITEZBZEL,
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ROBNIZERLZEL,
(1) #EHhE=-TLYSemEWLWRABDHELAH S, CDID4T 2) ELA=TXYemEWRAFDHEAHD, COMDIT
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2RISBENDNERIE

ROBNZEZEEN,

TORD &%, EN-TLYSMEVWRAHEDELH D, COMDITANS1DAMDIEAFELVIVERY, EAKRDERE
DK otzn, BEEAL20em’® Efiofz, MDT=THDRIERHEESLY,

* HODT-THORIZExecmET 5L, 5(x—2)(x—10)=420 — |
BORS(E (x+8) em&7i ., (x-2)(x—10)=84 \
X* ~12x—64=0 [ T
EAKRDT-TIE, x-5x2=x-10 (X—16)(X+4)=0 Xcm i
BEAKRDHEE, x+8-5x2=x-2 16 _4 a
Xx>0&kY
X=16
%= 16 cm
ROFNZE RSN,
(1) #EHhE=-TLYSemEWLWRABDHELAH S, CDID4T 2) ELA=TXYemEWRAFDHEAHD, COMDIT
HMBTBMIMDIEAFEETVERY, BEAKRORREE- HMB1EMNAMDIEAFETVERY, EAKRORREE-
=5, BIEM e’ (THoT=, MDI-THORIERDHIGE =5, BEMN220em® (o1, MDF-THORIZRDES
LY, LY,
\Scm ' dem
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* HDE=TOEIZ xem&ET 5HE, * HOF-THORIZExemET 5L,
BORSEE (x+8) em&7 b, BOREE (x+6)emEAE S,
EAEDI=TIE, x-3x2=x-6 BEAERD=TIE, x—4x2=x-8
BEHADIEL, x+8-3x2=x+2 BEAHADHEL, x+6—4x2=x-2
3(x—6)(x+2)=195 4(x-8)(x—2)=220
(x—6)(x+2):65 (x—8)(x—2):55
x> —4x-77=0 x> =10x—39=0
(x—11)(x+7):0 (x—13)(x+3):0
x=11, -7 x=13, -3
x>0kl x>0kl
x=11 Xx=13
% 11 cm % 13 cm




